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L

1. The inner surface of an arch, is termed as
[1] Spandril

[2] Extrados
[3] Crown
[4] Soffit

Answer: D

2. Which of the following, is not an example for a continuous stair?
[1] Circular stair
[2] Bifurcated stair
[3] Spiral stair
[4] Helical stair

Answer: B
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3. Inareas where rainfall is very heavy, the suitable type of roofing is
[1] Curved roofs

[2] Terraced roofs
[3] Pitched roofs

[4] Light weight flat roofing

Answer: C

4. The vertical outside member of a door or window shutter is known as
[1] Style
[2] Frame
[3] Horn
[4] Mullion
Answer: A
5. Le-Chatelier test is used for finding the.....of cement
[1] Setting time
[2] Strength
[3] Soundness
[4] Fineness

Answer: C
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6. The truss suitable for roofs of spans varying from 8m to 12 m is:
[1] Queen post truss

[2] Mansard truss
[3] King post truss

[4] Truncated truss

Answer: A

7. The process of applying cement mortar under pressure through nozzle is
called:
[1] Pressurizing

[2] Prestressing
[3] Guniting
[4] None of these

Answer: C

8. The mortar is which both cement and lime are used as binding materials
is called:
[1] Cement mortar

[2] Gauged mortar
[3] Fire resistant mortar
[4] Lime mortar

Answer: B
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9. In aresidential building the rise of a step may very between:
[1] 10cm -15cm

[2] 15cm-18cm
[3]18 cm—25cm
[4] 25 cm -30cm

Answer: B

10. The length of stair situated between two landings is termed as:
[1] Flight

[2] Rise
[3] Width of stair
[4] Going

Answer: A
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